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ITEC 370 Midterm - A
Multiple Choice
Identify the choice that best completes the statement or answers the question.  Each question is worth three points.
____
1.
In ____ networking environments, certain computers take specialized roles and function mainly as servers, and ordinary users’ machines tend to function mainly as clients.

	a.
	LAN
	c.
	peer-to-peer

	b.
	internetwork
	d.
	client/server


____
2.
In most situations, wireless LANs use a central device, called a(n) ____, to control communications.

	a.
	hub
	c.
	concentrator

	b.
	switch
	d.
	access point


____
3.
A ____ network topology is the most fault tolerant one.

	a.
	ring
	c.
	bus

	b.
	mesh
	d.
	star


____
4.
Coaxial cable consists of a single conductor at the core, surrounded by an insulating layer, braided metal shielding, and an outer cover (usually called the ____).

	a.
	braiding
	c.
	insulation

	b.
	sheath
	d.
	conduit


____
5.
In a NIC, ____ are the fundamental unit of data for network transmission and reception.

	a.
	bits
	c.
	packets

	b.
	segments
	d.
	frames


____
6.
____ cards are credit-card-size expansion cards used primarily to add functionality to laptop computers.

	a.
	USB
	c.
	NIC

	b.
	FireWire
	d.
	PCMCIA


____
7.
PnP attempts to define a set of configuration protocols so that a computer can communicate with its peripherals during the ____ sequence and negotiate a working configuration without requiring user intervention.

	a.
	boot up
	c.
	IEEE 1394

	b.
	POST
	d.
	load


____
8.
With respect to data transfer speeds of wireless NICs, the most common choices today are 11 Mbps or ____ Mbps.

	a.
	22
	c.
	54

	b.
	50
	d.
	100


____
9.
In the OSI reference model, the ____ layer is layer 2.

	a.
	Physical
	c.
	Data Link

	b.
	Presentation
	d.
	Network


____
10.
In the OSI reference model, the ____ layer is layer 4.

	a.
	Session
	c.
	Data Link

	b.
	Transport
	d.
	Network


____
11.
The job of the ____ to convert bits into signals for outgoing messages and signals into bits for incoming messages.

	a.
	Data Link layer
	c.
	MAC sublayer

	b.
	LLC sublayer
	d.
	Physical layer


____
12.
____ functions at the Transport layer of the OSI reference model.

	a.
	PPP
	c.
	IPX

	b.
	IP
	d.
	SPX


____
13.
____ is a nonroutable protocol.

	a.
	NetBEUI
	c.
	IPX

	b.
	IP
	d.
	SPX


____
14.
____ is a name-to-address resolution protocol that functionally operates at the Session layer of the OSI model.

	a.
	DNS
	c.
	ICMP

	b.
	ARP
	d.
	DHCP


____
15.
An IP address is divided into two distinct parts: one part designates the logical network the computer is a part of, while the remainder of the address represents the ____.

	a.
	NIC’s MAC address
	c.
	host ID

	b.
	domain name
	d.
	subnet mask


____
16.
____ is the message format that DOS and Windows use to share files, directories, and devices.

	a.
	FTP
	c.
	SMB

	b.
	NetBIOS
	d.
	Samba


____
17.
NWLink is the Microsoft implementation of the ____ protocol suite.

	a.
	TCP/IP
	c.
	AppleTalk

	b.
	NetBIOS and NetBEUI
	d.
	IPX/SPX


____
18.
AppleTalk divides computers into ____.

	a.
	zones
	c.
	groups

	b.
	domains
	d.
	subnets


____
19.
In early networks based on ____, computers sent data whenever they had data to send.

	a.
	polling
	c.
	demand priority

	b.
	switching
	d.
	contention


____
20.
____ Ethernet uses two strands of fiber-optic cable.

	a.
	100BaseT
	c.
	100BaseT4

	b.
	100BaseTX
	d.
	100BaseFX


____
21.
The ____ frame type is generally used on the AppleTalk Phase 2 networks.

	a.
	Ethernet 802.2
	c.
	Ethernet SNAP

	b.
	Ethernet 802.3
	d.
	Ethernet II


____
22.
____ is a high-speed, baseband digital networking standard that specifies incrementally increasing data rates across fiber-optic links.

	a.
	SONET
	c.
	FDDI

	b.
	ATM
	d.
	DSL


____
23.
A(n) ____ is a hardware device or software program that inspects packets going into or out of a network or computer and then discards or forwards those packets based on a set of rules.

	a.
	gateway
	c.
	firewall

	b.
	IDS
	d.
	router


____
24.
____ allow network administrators to group users and resources logically instead of by physical location.

	a.
	WANs
	c.
	VPNs

	b.
	VLANs
	d.
	PANs


____
25.
A V.90 modem uses a technique called ____ that digitizes analog signals.

	a.
	MP3
	c.
	CODEC

	b.
	PCM
	d.
	WAV


____
26.
The interface for ISDN is sometimes referred to as a(n) ____.

	a.
	digital modem
	c.
	NT

	b.
	DCE
	d.
	CSU/DSU


____
27.
____ virtual circuits are similar to leased lines, in that the pathway between two communication points is established as a permanent logical connection; therefore, the pathway exists even when it’s not in use.

	a.
	Automatic
	c.
	Permanent

	b.
	Switched
	d.
	Manual


____
28.
____ is the guaranteed minimum transmission rate that the frame relay service provider offers.

	a.
	CIR
	c.
	PVC

	b.
	PCM
	d.
	CSU


____
29.
The device that sends data to (and receives data from) the local loop is called ____.

	a.
	NT
	c.
	CSU/DSU

	b.
	DCE
	d.
	CPE


____
30.
Which of the items listed is not an advantage of packet switched networks?

	a.
	Line efficiency
	c.
	Load ballancing

	b.
	Different data transmission rates are not supported
	d.
	Costs of the line can be shared


____
31.
A ________________ network is depicted in this diagram.
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	a.
	Star
	c.
	Bus

	b.
	Mesh
	d.
	Tree


____
32.
A(n) ____ is a network of networks or a networked collection of LANs tied together by devices such as routers.

	a.
	internetwork
	c.
	MAN

	b.
	Internet
	d.
	WAN


____
33.
In a(n) ____, every user must also act as a network administrator, controlling access to the resources on their machines.

	a.
	LAN
	c.
	peer-to-peer network

	b.
	internetwork
	d.
	client/server network


____
34.
The ____ is a short-range networking technology designed to connect personal devices to exchange information.

	a.
	LAN
	c.
	WPAN

	b.
	NOS
	d.
	PDA


____
35.
A server-based network makes sense when more than ____ users must share network access.

	a.
	5
	c.
	25

	b.
	10
	d.
	50


____
36.
All computers, no matter what their topology, communicate in the same way: They address data to one or more computers and then transmit that data across the cable in the form of ____.

	a.
	bits
	c.
	bps

	b.
	bytes
	d.
	electronic signals


____
37.
A central device, usually a(n) ____, sits in the middle of the extended star topology.

	a.
	hub
	c.
	switch

	b.
	concentrator
	d.
	access point


____
38.
____ encloses each pair of wires within a foil shield as well as an enclosing insulating sheath.

	a.
	TP
	c.
	STP

	b.
	UTP
	d.
	ScTP


____
39.
10BaseT refers to ____.

	a.
	TP
	c.
	STP

	b.
	UTP
	d.
	ScTP


____
40.
Whether STP or UTP, twisted-pair network cabling most commonly uses ____ connectors to plug into computer network interfaces or other networked devices.

	a.
	BNC
	c.
	RJ-45

	b.
	MT-RJ
	d.
	RJ-11


____
41.
____ is not a fiber-optic connector.

	a.
	BNC
	c.
	SC

	b.
	ST
	d.
	LC


____
42.
MAC addresses take the form of ____ two-digit hexadecimal numbers separated by colons.

	a.
	four
	c.
	six

	b.
	five
	d.
	seven


____
43.
Most computers start themselves (in a process called ____) by reading information from a disk.

	a.
	boot up
	c.
	Boot PROM

	b.
	POST
	d.
	PXE


____
44.
____ is Novell’s connection-oriented protocol used to guarantee data delivery.

	a.
	AppleTalk
	c.
	TCP

	b.
	IPX
	d.
	SPX


____
45.
____ is the standard that’s usually in mind when discussing 100 Mbps Ethernet.

	a.
	100BaseT
	c.
	100BaseT4

	b.
	100BaseTX
	d.
	100BaseFX


____
46.
10BaseT Ethernet uses Category ____ or higher UTP cable.

	a.
	2
	c.
	4

	b.
	3
	d.
	5


____
47.
____ is the AppleTalk protocol running over a 10 Mbps IEEE 802.3 network.

	a.
	LocalTalk
	c.
	TokenTalk

	b.
	EtherTalk
	d.
	BusTalk


____
48.
A(n) ____ line has 28 T1s or 672 channels and supports a data rate of 44.736 Mbps.

	a.
	switched 56K
	c.
	T1

	b.
	ISDN
	d.
	T3


____
49.
Developed in the mid-1970s, the ____ specification provided an interface between public packet-switching networks and their customers.

	a.
	ISDN
	c.
	V.90

	b.
	T1
	d.
	X.25


____
50.
Which of the below is not a common LAN topology?

	a.
	Bus
	c.
	Mesh

	b.
	Thread
	d.
	Tree


Continue to next page for short answer questions.

Short Answer

Answer any four of the six questions.  Each question is worth twenty-five points.  

Only the first four questions answered will be graded.

51.
What is a WAN?

52.
How does the functionality of a switch differ from the functionality of a hub?

53.
What are the main tasks performed by a NIC?

54.
What does a frame trailer contain?

55.
What is the role of the Session layer of the OSI reference model?

56.
What are the advantages and disadvantages of switching?
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